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SCECTION I (6 Marks): Circle the letter of the correct answer. Use & — 9.8 m/s

0.1

Which of the following quantities is a Scalar quantity.

A) Weight B) Acceleration C) Displacement D) Time

Q: 2

“Action and reaction are equal but opposite in direction” This statement is Newton’s
A) First Law of Motion. B) Second Law of Motion.
C) Third Law of Motion. D) None of the above.

03.

A ball is thrown upwards with initial speed of 14 m/s. How high ball will go?
A) S5m B) 7.4 m. C) 10m D) 14 m

Q.4

A 1500 kg sports car is advertised to accelerate from rest to 126 km/h in 5 seconds. Its
engine applies an average force of}

A)1.05x10'N.  B)2.3x 10°N. C)3.3x 10™N. D) None of these

Q3

A box of mass of 18 kg is pulled with constant speed on a level ground with a force “F” at an
angle of 20° from the horizontal. If the coefficient of kinetic friction between box and ground

is 0.5, the force acting on the mass is;

=
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A) 49.2N B) 59.5 N C) 693N D) 79.5 N



SCENTION 11 (8 marks): ANSWER COMPLETELY SHOWING ALL YOUR WORK.
2
Use ¢ = 9.8 m/s”.

Q.1. (4 marks)

A plane drops a package of food to a party lost in desert. While releasing the package plane is
flying horizontally at 40 m/s at a height of 100 m above the ground.

(a) Where does the package hits the ground relative to the point of release?

(b) What is the velocity vector of the package when it hits the ground?

(c) Speed of the package when it hits the ground?



Q2 (4 marks)

A worker places a metal box on an inclined surface that is inclined at 30°. If the box slides
down along the incline plane with an acceleration of g/3.

(a) What is the coefficient of kinetic friction between the box and the surface?

(b) What is the speed of the box after sliding 1.4 meters along the incline plane?

(¢) In case if incline surface is frictionless, what will be the speed of the box after sliding
1.4 m?
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